EARAROBEEIERT — 2 N— IBISH —F

201852/ 130 (K) 1EBVMNE2H

(VAR >R 4Lt 500AT 4tEE B IR
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
4 4 | BLBATF 1:08.8 2-2 35.3| 95.7 | 1 464 | SFHE— (ER)
11715/ 77 7% 5.0 =) o) | BHEX
LA TIxATv— B:TrA4FLy b7 HE77—»4L
3 = 4 5 | ERE 1:09.1 4-3 35.4| 92.7 | 2 460 | EEB— (RR)
2|8|16| ANNMTF ¥ 77 55.0 ©) (-12) [HimRockRacing
A :Shamardal B:JU—>74 X2 BINET 7 — L
o s N KOE . — L (EXR)
3l7lqa| 15y vasFH it 4 xo 1.(029).4 9-9 35.5| 89.6 | 18 <$§> %i}ﬁ%
R:FHh¥<71xX4 B:2LFH A NRES
o s g : — MEE (FEX)
alslo|FamTaLAy— it 4 GEr 1(.30/%5 16-15 | 34.8| 88.7 | 13 :;6) I
LNn—ErTv— BETvUR NOERNTT =L
= s 5 | dtRIR— 1:09.5 5-5 35.7| 88.6 | 3 466 |ATEBS (ER)
58|18 FLZITILY 55.0 (NF) (-g) | FHIEESL
R:wy)Edyk B:L—XTzIb AV ¢
= = 4 | ANWEH 1:09.6 10-12 [ 35.5|87.6 | 5 464 | BEFR— (EA)
67|13 F71 1 bT1T i %54.0 (3/4) +8) &) yoroL—sy
L= R7Ua—lb B:572—t1/N—Fh () HAa-KRL—>a>aEIr
Yy —5 f 5 | BERET 1:09.8 13-12 | 35.5|85.5 | 6 | 452 |FEH )
7 5 A52.0 ) (+6) | HEITh—ER
LTRIAYT IR BITAILEY Y — PR
< — . = D. NIPa— :09. - . . POHTTE (BR)
sWli2 P ¥RT A>T R - et 1(/9?:? A A R ;‘:)24) B AT
RRFAT—IE BE—X4TFY FrrEFLXTr—L4
Q “ t 4 | BHERE 1:09.9 13-12 35.6 | 84.5 | 16 472 | REEE (EH)
9|5/10| A/ —KF—=FY 5.0 (1/2) Lo | ) InTT-n
o4O B:IJIOvF [33=Y e
o = = it 5 | BRE 1:09.9 15-15 | 35.3| 84.6 | 15 | 510 |=@EZ (E®R)
EH” ORA [soret 772 7c54.0 (F4%) (t14) | ) ESH-TU—g—X.2=F
R:v>NyB&>hT1 BNZIRT—h i/ cie ]
5 | AN 1:10.0 5-5 36.2| 83.8 | 11 | 450 |FEER (Eil)
M1|2|FH/71Y SR e e | U RS R zAsz—
L Z2FAd—- R B —F%y LT o FRERS
° 7 B4 | REMC 1:10.2 10-9 36.2| 81.8 | 17 | 422 |EEF—BE (i)
12 4| OV —7L—h 55.0 (1 1/2) o) |BER
gL X0 ML BiNESN RIFERIS
e e B4 | HBAA 1:10.5 5-5 36.7]79.3 | 7 504 | EEEE (i)
138N 6| 7771 - yiN= 55.0 @ a) |TATLARTST )
Ly ATdykR B:/N/3aMI INEHIS
; —: 4 4 | EEBE—ER 1:10.6 1-1 37.2| 787 | 8 428 | BEFR (RR)
1411 | TT/FEAT 55.0 (7E) (-12) | BEE
SANRZTNG BTV XA T e EE 45035
N N L1 HE— : — HeiER (EF
15 gl INRILTTLRYA it 5 e 1(.11/02.>7 16-15 | 35.9| 76.6 | 14 (i?ﬁ) petiaiel
R:TIvIEAR BII -0 FHREHS
g 4t 4 | HlEs 1:10.9 18-18 [ 35.9| 74.6 | 12 | 438 |KIER#E (i)
16/ 8117 T2 —KR—Ib A52.0 (1 1/4) (+14) | BEBHE
d /v vrTae BIAR—RFEA R (AYaF e ]
=3 o4 | BBRE 1:10.9 5-5 37.1| 758 | 9 450 |MTRE (ER)
17 3| 7FT7 7Y 55.0 (7€) (+10) |ABE=
LTIWTFNTL2 BN F—24% [QCRDE e ]
y S 5= IR 1:11.4 2- 7.9 | 71. 1 4 HiE (ER)
18 71 7L VAl s 5 © ¥¢54.0 3) s 5.9 ’ 0 (_8‘8 BRIV Y
R:wLNyaLNTT BT RIAYTLY J—H T —L
@ 21 L
£y 46.6-35.4
NaO>a24 L | 11.8-10.4-11.2-11.7-11.6-12.1
® I—F—&EBIERL
13—7-
23—7F—
33—+ — 1(7,15)16(2,3,6,18)14(4,13,12) (10,5)11(9,8)17
451—CE— (x1,15) (7,16) (2,3,6,18) (4,14,12) (10,13,5) (9,11,8)-17
[ N5
B R 15 2710 | | 71 K 15-16 330/ | | B = 7-8 390/ | | 3:=E | 14-15-16 28,220
% B 15 140 14-15 6,790M | | B & 15-16 680/ | | =HE | 15-16-14 93,740
16 200M 14-16 13,590M B H 15-16 1,070M
14 2,410

ABICOVWTRDTEEERROODE. TR LIV,




